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ol 20 ° AR A A2 SE AUY) AEZIH CHAfoI Rl 2 uhH

# ABUX(aA) BITEED LB £ (2) (g | M8¥E | 4L
1 2024.1.7. KEetH A (H=H) 28 Hoyal 60,000 5 Jt= laed
2 2024.1.7. KE2tS QD SH Syt 50,000 3 Pl 223
3 2024.1.8. ctelet AUJAT A B 50,000 19 EE laed
4 2024.1.11. ctelet ER2Y 83 Zog 50,000 20 3 223
5 2024.1.12. ctelet AN ElQgA 2 50,000 20 EE laed
6 2024.1.15. ctelet AT FAA BCHY 50,000 20 == |22
7 2024.1.17. ctelet ER2E A 50,000 20 EE laed
8 2024.1.19. KE 2t 4 EL2E Id J|8 &= 50,000 3 Pl 223
9 2024.1.12. SgErgsALet SIRstis XS EEE &2 HEH X2 500,000 100 EE Al Z
10 2024.1.15. AES FHUAN Q& 684,000 40 Pl A Z
11 2024.1.3. ot AlEt QP o Q& 68,000 4 Bl Mg
12 2024.1.4. JFOH A2 o Q& 76,000 3 Bl B
13 2024.1.8. St g2 QP o Q& 120,000 4 Bl Mg
2024.1.17. CHOlY ®I (oI E) ER2E &Y Q& 92,900 4 e B

2024.1.22. HaE A= 5igs CAF ISR B& He 91,800 6 Bl Mg

2024.1.29. 0l &= N DESJASIC ALY 2tEg| 63,000 3 = B

AR =F 2024.1.9. FEI(HE) M3CH & Y 2 39 28,500 4 Bl Mg
AR2=E 2024.1.12. ZAEEF0| IEA EC=2F 2te 3| 220,000 8 = B k=

AR =F 2024.1.31. 2538 AlS| & Her 64,000 3 Bl Mg
ELR2E 2024.1.8. ols, JHH =210 Aol A AHX S0{A A A 95,000 4 = B k=
ER2E 2024.1.10. rES I E8 2 Q& Al 78,000 4 Bl Mg
S22 2024.1.18. B.B.Ect2¢YI 22 319 24,700 6 = B

= 2024.1.10. Ol EJHH (A EA) FAW) AHE ARHO 3,600 3 Bl Mg
2024.1.18. JtHI A S 2|0 &I E ISINEGHAN A2 112,000 8 J= B k=

2024.1.30. rES 78 i 289 92,000 7 Bl Mg

2024.1.31. S AHEHE Sest HIPXE o3 AR2Y35 9 62,800 6 J= Mg

2024.1.11. o E=E AP 3|9 Q& 160,000 8 Bl Mg

2024.1.12. AES NSNsE 2SS BALE AT 2289 69,000 4 = B

23 2024.1.12. et AEEFE M L MY g9 39,000 3 Bl Mg

25 2024.1.16. SA Z2F5tgd NEWSE 2024 A2 A 2 24 39 40,400 7 J= B k=

23 2024.1.25. Z2=2& H2HAHE N2 WEE IsE TAS+E LAE3X 29 22,500 6 Bl Mg

=5 2024, 1.25. EEDE; NEDSS 28E TALE LXK g0 65,000 6 S| mmg

23 2024.1.25. ZFSHOTH N2WEE 2sE TASE A3T 289 21,500 6 = XMz

25 2024.1.26. JHOt D& NS NEE 2SS ZALE AZT dLE9 85,000 6 = B

23 2024.1.26. LS HSAE(HIIMGCHI) |[HEWNSE 2EU2 TALDE AXX APE 26,500 6 = XMz

25 2024.1.12. HAES0IHAM= ER2E 58 o XA AY 75,000 4 = 2M2E

23 2024.1.25. OI0EZAHE SMI QPSE mer o A 98,810 5 Bl SA2A

25 2024.1.29 OIOtEZAHE Qe M Mo L A2 42 O 114,500 7 = 2M2E

3,703,510




